FEFRFHMHE  $25% 1989

SPRING (NH) V. (50 N)

120E 150E 180 1S0W

120

500 1500

1000 000

120E  1S0E 180 150W 1200 | 90W
CONTOUR INTERVAL = 1.0 CM/S

X 3.4.125 FHZFICB LIRS (V) ORETESA (50°N)

SPRING (NH) V. (40 N)
120E 150E 180 150N 120K S0W

500

1000

120E 150E 180 150W 120K S0W
CONTBUR INTERVAL = 1.0 CM/S

B 3.4.126 HZIZBFAHMEHEEILES (V) OEERIEHSA (40°N)
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SRR %255 1989

SPRING (NH) vV (30 N
150KW 120W

500 rS00

1000

120E 150E 180 150W 120KW 90W
CONTOUR INTERVAL = 1.0 CM/S

3.4.127 EFIIBIFHHEHRBEILES (V) ORBGRIE S (30°N)

SPRING (NH) v (20 N
120E 150E 180 150W 12 90W

500 500

1000 1000

120E 1S0E 180 150W | 120W 90W
CONTOUR INTERVAL = 1.0 CM/S

3.4.128 EZF BT EREILES (V) ORERIESA (20°N)
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TRAEFEREE $255 1989

SPRING (NH) v (10 N)
120E 150E 180 150K 120W S0W

500

1000 1000

120E 150E 180 150NW 1 20W 90W
CONTOUR INTERVAL = 1.0 CM/S

3.4.129 FFIIBII L MEREILES (V) OBEEMESA (10°N)

SPRING (NH) vV (5 N)
0 120E 150E 180 1S0W 120W 90N

S0 500

100 1000

20U

fENeE: 5 I 38 H
20E 150E

3.4.130 EFEF B auEREILKS (V) ORBGEES A (5°N)
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K[EBEPRFBAMRE  $255 1989

AUTUMN (SH) voo(10 S)
120E  150E

500

1000

IﬁOE 150E 180 ISON- 120K 30W
CONTOUR INTERVAL = 1.0 CM/S

3.4.131 ®F (B¥EH) KB rHEHEILRS (V) ORGEES A (10°S)

AUTUMN (SH) v (20 9S)
120E | 150E 180 150K 1201 S0W

500+ -S00

1000+ -1000

" 120E 150E 180 150W 120W 0w
CONTOGUR INTERVAL = 1.0 CM/S

3.4.132 F&FE (EEER) BT ssrmiEdEs (V) OEBERES A (20°S)
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5004

1000+

T l20€ 150E 180 150KW 120W SONW

K[EWEFHEMRE 255 1989

AUTUMN (SH) Vo30S
120E ISOE . 180 150W 120W . 90W.

. Mpo

1000

CONTOUR INTERVAL = 1.0 CM/S

B 3.4.133 #%F (R BT sMEgHEIES (V) OEAIES A (30°S)

500

1000

AUTUMN (SH) V40 S)
120E  1S0E 180 150W 120K 9OW

J§ i}\)

500

1000

1 20E 150E 180 1S0W  120W  9OW
CONTOUR INTERVAL = 1.0 CM/S

M 3.4.13¢ #ZF (LI B AMEREILES (V) ORERTESM (40°S)
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SEMATSHBE H255 1989

AUTUMN (SH) v (50 $S)
120E  150E 180 150K 1200 90HW

500 +500

1000 S-IOOO

120E 150E 180 1SOKW 120MW S0W
CONTOUR INTERVAL = 1.0 CM/S

B 3.4.135 #%ZF (BFER) BT LRSS (V) OEERE S (50°S)

AUTUMN (SH) v (60 $S)
120€E 150E 180 150K 120W 90W

500 -500

1000

120E 150E 180 150U 1204 90W
CONTOUR INTERVAL = 1.0 CM/S

K 3.4.136 #%F (FPIR) 0BT smegHEEdRs (V) OREWES A (60°S)
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